21



oo OO OO O
A W N -

N



17

12

1,500km?

19

8,445km



11

1.2

0B




13

19 26

-1.1

-1.1




2.1
1)
(LCC)
(LCC)
LCC( )
LCC ( -2.1)
P i
B |
- ______ +_ _______________
Y
LCC
Y
v
-2.1 LCC




2.2

LCC

€y

¢)
®

)

-2.1

-2.1




&)

)

=

D

2)
3)

4)

5)

6)

)




2.3
3& 0 3m/m2
a7 3 6m/m?
37 38 h?ﬂl A 8m/m2 )
f on
38 39 e )

(o
- e
Im/m2
O 2008.11,




3

-2.4

(

-2.4)

-2.5

-2.5

\4

D
2)




3.1
-2.5
-2.5
(LCC?) l l l
(1000 ) 0 )
LCC
. (3000 )
1 Lce Q (tce)
L3000 ____ ..
L2000 .
LCC | |
-3.1
-3.1
2)
LCC
2009 2018 2019 2028 2029 2038 2039 2048 2049 2058
3.2 - - —o— o



3.2

P e e

||||||||||||||||||||

N e e e e e e e e e e e e e e e e e e e e e e e e e

-3.3

-3.1

(¢ -3.3)
-3.1

HI




4.1

)

( -4.1)

-4.1

)

©)

10



4.2

@)

)

( -4.1, -4.2)

=1

(Microsoft Excel

)

11




“ﬁ.\_ _ “ﬁ.; -
“%—J
)

Y

<

(Microsoft Excel )

-4.2

12

bz



5.1

(

-5.1

-5.1)

1

Lcc?

NPM?

13




\4



21 2

T REIBEE | CrmoRiE- 158, HEORE)
pryT—— HIE O LS, MRS - HE
BAmERBLRE || | e sem
_ Hh - B P oD [E] B T E O RE - BB D
FAEAREREHR [fﬂmwf* s, SEEAS
M., T, xFH
+ AKER ”
R OERFEOFR B, W, R
TARE F
KEREREBMN || o pmmns 3
ALK O E IRt E O HE T i IR, )
T F
EAL T REBEEIEA [Tﬁﬁ - |
KERoEBAHEOHE o, wIHH, )
- _
i s
RKELAREBHEEIEAH - |
- - R AT )
T T
_ KEEAORIEET LFE _J
_ (M- EEeShe, MHFECETEE, )
Sl NI e et s i
(_ ERMEERORE L A HE _
X - ( ERFGE OGS, B SRR OB )
ERIR R .
ek _
(PR FESL DY ) Pmoitnsmio b, s, iz
(ERFELICYE ome v )
(AERELS<UE )@= /)
(=@ ) (EERELIC<YHE ) mx o)

EEEEREI

CEAREL SR )i 1 )

(REREHSWR ) =i 1)

HIRH A5

15

_\fﬂi@}?é?ﬁ%

LR
(s e var - |
_\imj-gjz/jﬁ;%% ) (A E7 g

(Ve P 1 v —

] (/K 8 Hu el

\f@“ﬂﬁé?ﬁ%

-
zg Fa K

(L f st — | [ RE o w0
R AR AR R

)
)

)



6.1

16




6.2

OORNC))

LD
L@
L3
L (@
(1)
(2)
1.
2.
3.
4.
5.
6.
7.
8.
(3)
4)

17

LCC2




-6.1

6.1
4.1, 4.2
51 5.2
-6.1
Step 1 Step 2 Step 3
[
S
I
r N\ [ ! /—I_I N\

18




6.3

6.2

1) 1 2
2)

4)

1) [1 2 |

3.1 ( -3.1,
(¢ -7.0)
[ ]
HEI
\\\\\\\\\ n \\\\\\\ fr——
\\\\X/ \\A\\\\\ o
. o)
|

o S
Ve B <\
\\\\\\\\\\ o \\\\\\\\\\&\ \\\\\\\\\\ \\\
\\\\\ \\\\ §\\\\
-7.1
2)
3) 5 8 ]
5 8
4)

19

-3.2)




6.4 (NPM)

(LCC?)
(NPM3 )
1) (LCC?)
LCC
LCC LCC LCC
1) LCC
LCC
LCC
2) LCC
LCC
LCC
1) LCC
LCC
2 (NPM?3)
NPM(
)
LCC
(NPM) -6.2
(LCC)
(NPM)
NPM 1980
NPM 4
/

20




-6.2

LCC

LCC

LCC

1 LCC2

NPM3)

NPM

21

=




1)
NPM(
2)
LCC (Life Cycle Cost)
LCC
3)

NPM (New Public Management)

NPM( ) 1980

NPM 4

22



4)

b)

5)

6)

7

8)

9)

10)

11)

23



12)

24



